

ROMANIAN MATHEMATICAL MAGAZINE

Find:

$$\Omega = \lim_{n \rightarrow \infty} \left(\sum_{k=1}^{\infty} \frac{\omega_k}{2\omega_{k+1}} - \ln(n) \right), \quad \omega_n = \lim_{x \rightarrow \frac{\pi}{2}} \prod_{k=1}^n \frac{1 - \sin^k(x)}{\cos^2(x)}$$

Proposed by Daniel Sitaru-Romania

Solution by Shirvan Tahirov-Azerbaijan

$$\begin{aligned} \omega_n &= \lim_{x \rightarrow \frac{\pi}{2}} \prod_{k=1}^n \frac{1 - \sin^k(x)}{\cos^2(x)} = \lim_{x \rightarrow \frac{\pi}{2}} n! \frac{1 - \sin^n(x)}{\cos^{2n}(x)} = n! \lim_{x \rightarrow \frac{\pi}{2}} \frac{1 - \sin^n(x)}{\cos^{2n}(x)} \stackrel{x=k+\frac{\pi}{2}}{\underset{k \rightarrow 0}{\rightleftharpoons}} \\ &= n! \lim_{k \rightarrow 0} \frac{-1 - \cos^n(k)}{\sin^{2n}(k)} = n! \lim_{k \rightarrow 0} \frac{1 - \cos^n(k)}{k^{2n} \cdot \left(\frac{\sin^{2n}(k)}{k^{2n}} \right)} \stackrel{\lim_{x \rightarrow 0} \left(\frac{\sin(x)}{x} \right)}{\rightleftharpoons} n! \lim_{k \rightarrow 0} \frac{1 - \cos^n(k)}{k^{2n} \cdot \left(\frac{\sin(k)}{k} \right)^{2n}} = \\ &= n! \lim_{k \rightarrow 0} \frac{\left(1 - 2\sin^2\left(\frac{k}{2}\right) \right)^{2n} - 1}{k^{2n}} \stackrel{\lim_{x \rightarrow 0} \left(\frac{\sin(x)}{x} \right)}{\rightleftharpoons} n! \lim_{k \rightarrow 0} \frac{2^n - (-1)^n (k^2 - 2)^n}{2^n \cdot k^{2n}} = \frac{n!}{2^n} \\ \Omega &= \lim_{n \rightarrow \infty} \left(\sum_{k=1}^{\infty} \frac{\omega_k}{2\omega_{k+1}} - \ln(n) \right) = \lim_{n \rightarrow \infty} \left(\sum_{k=1}^{\infty} \frac{\frac{k!}{2^k}}{2 \frac{(k+1)!}{2^{k+1}}} - \ln(n) \right) = \\ &= \lim_{n \rightarrow \infty} \left(\sum_{k=1}^{\infty} \frac{2^{k+1} \cdot k!}{2^{k+1} \cdot (k+1)!} - \ln(n) \right) = \lim_{n \rightarrow \infty} \left(\sum_{k=1}^{\infty} \frac{k!}{(k+1)} - \ln(n) \right) = \gamma - 1 \end{aligned}$$